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Deregulation and globalization of financial services, together with the growing sophistication
of financial technology, are making the activities of banks more complex. Developing the
integrated risk management framework is the sound practices to control and manage the extensive
risk .Please answer the following questions :

1.What are the three lines of defense in effective risk management and control? [64 ]

2.What is the definition of risk appetite? What kind of process does the bank implement to
manage risk appetite? [11%4 ]

3.What kind of methodology can help bank to measure the Exceptional but Plausible
adverse risk events? [34 ]
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The price of Stock C today is $55. Consider the following information on Stock C :

State of economy Probability of state of economy Stock price next year if state
occurs

Recession 0.20 45

Normal 0.50 65

Boom 0.30 85

Stock C pays no dividends and has a correlation of 0.85 with the market portfolio. If the
market portfolio has a standard deviation of 20%, please answer the following questions:

1.What is the expected rate of return of Stock C? [44 ]

2.What is the standard deviation of Stock C? [54 ]

3.Calculate Stock C’s beta based on the above results and information. [34 )

4.According to the Capital Asset Pricing Model (CAPM), what expected rate of return
should Stock C earn if the risk-free rate is 2% and the market risk premium is 6.00%?
[3~1]
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PVIF(2.9%,2)=0.9444; PVIF(3.0%,2)=0.9426;
PVIF(2.9%,3)=0.9178; PVIF(3.0%,3)=0.9151
PVIFA(2.9%,3)=2.8341; PVIFA(3.0%,3)=2.8286
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T=7 Bk (critical numbers)

& § & (standard normal) :
Zpo1 = 2.326, 25905 = 1.96, zy4s = 1.645, z,, = 1.282~
t-% fe(t-distribution) :
fo025(9) = 2.262 ~ t,45(9) = 1.833
to.02s5(10) = 2.228 ~ t, 45 (10) = 1.813
-+ = (x?-distribution) :

2 ,s(3) = 9.3484 ~ 2 .(3) = 7.8147

2 ,.(4) = 111433~ ¢2 . (4) = 9.4877
¢2 ,.(5) = 128325~ ¢Z . (5) = 11.0705
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Tzu-Wei Lin’s 23 days MLB journey showed a fantastic stats.

minimum requirement.
records, please answer the following questions.

1.Complete the testing, Ho: p1 = p» vS. Ho: p1 # p» at 5% significant level. [84 ]
2.Find the 95% confidence interval for p; — p,. [74 ]

0.380 OBP [(on base
percentage), 19 on base out of 50 at bats(AB)] can be the top in the MLB list if AB counts over the
Lin’s OBP record in minor (3A+2A) 2017 was 0.366, 60 on base out of
164 AB. Letpl, p2 be the Lin’s true OBP in MLB and Minors, respectively. According to these
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